

$$m\alpha - \epsilon\alpha = \gamma m \quad \frac{\omega}{\gamma} = \text{مساواة} \Rightarrow \alpha = \frac{\epsilon}{m}\alpha + \gamma \quad \text{من طرف المبدأ} \quad (0, \gamma) \Rightarrow \text{انقاع } (2, \gamma)$$

$$\alpha + m\alpha = \alpha + \gamma$$

$$\alpha = 0$$

$$-m\alpha + \alpha + \gamma = 0$$

$$(-m+1)\alpha = -\gamma \Rightarrow \alpha = \frac{-\gamma}{-m+1} \quad \alpha = 0$$

$$\epsilon\alpha + \gamma m = 0$$

$$\alpha = \frac{-\gamma m}{\epsilon} = \gamma - \frac{m}{\gamma}, 0$$

$$\frac{\gamma \times |\alpha_B - \alpha_C|}{\gamma} \Rightarrow \left| \frac{-\gamma}{-m+1} - \left(\gamma - \frac{m}{\gamma} \right) \right| \Rightarrow \frac{-\epsilon - m^2 + m}{-2m + \gamma} \cdot \frac{\omega}{\gamma} \Rightarrow \frac{m^2 - m + \epsilon}{\gamma(m-1)} \cdot \frac{\omega}{\gamma}$$

$$m^2 - m + \epsilon = \Delta m - \Delta$$

$$m^2 - \epsilon m + \gamma \Rightarrow \frac{m}{\epsilon}$$

$$-1 \times \gamma \Rightarrow \frac{-\gamma}{\epsilon}$$

$$\alpha = \gamma m + b$$

$$\Rightarrow \alpha = \gamma m - \gamma$$

$$\frac{1 + \alpha'}{\gamma} = \gamma \Rightarrow \underline{\alpha' = \gamma}$$

$$-\gamma = \gamma(\gamma) + b \Rightarrow \alpha = \gamma\alpha - \gamma$$

$$\downarrow$$

$$- \gamma$$

$$\alpha = \alpha + \Delta \rightarrow -1$$

$$\alpha - \gamma = -\alpha + 1 \Rightarrow \alpha = -\alpha + \gamma$$

$$\Rightarrow \alpha + \Delta = -\alpha + \gamma \Rightarrow \alpha = -1$$

$$\alpha = \epsilon$$

$$\frac{a+1}{\gamma} = -1 \Rightarrow a = -\gamma$$

$$\frac{b+\gamma}{\gamma} = \epsilon \Rightarrow b = \epsilon$$

$$\Rightarrow 1\gamma - (-\gamma) = 1\Delta$$

نقدان امامی

$$A = (f, -f) \quad B = (r, 1) \Rightarrow (r, 1) \Rightarrow \frac{A - (-f)}{r - f} = \frac{1}{r - f} \Rightarrow -V = \frac{1}{r - f} \cdot f + b = 1$$

$$V = \frac{1}{r - f} \cdot f + b$$

$$A = (r, 1) \quad B = (-r, V) \quad C = (-1, r) \Rightarrow \frac{V - r}{-r - (r)} = \frac{r}{-r} \Rightarrow \frac{V - r}{-2r} = -1 \Rightarrow V - r = 2r \Rightarrow V = 3r$$

$$\sqrt{r^2 + r^2} = \Delta = BC \Rightarrow \frac{r}{r} \cdot r - 1 + b = r \Rightarrow 1 - \frac{r}{r} + b = r \Rightarrow b = r$$

$$\frac{1}{r} \cdot r + b = 1 \Rightarrow \frac{1}{r} + b = 1 \Rightarrow b = 1 - \frac{1}{r}$$

$$V = \frac{r}{r} \cdot r - \frac{\Delta}{r} = 1 - \frac{\Delta}{r}$$

$$V = -\frac{r}{r} \cdot r + \frac{\Delta}{r} = -1 + \frac{\Delta}{r}$$

$$\Delta = r \Rightarrow r = 1$$

$$rV - r = V \Rightarrow rV - r = V \Rightarrow rV - V = r \Rightarrow V(r - 1) = r \Rightarrow V = \frac{r}{r - 1}$$

$$\frac{r}{r - 1} \cdot \frac{r}{r - 1} = \frac{r^2}{(r - 1)^2}$$

$$\frac{r - r}{r} = r \Rightarrow \frac{0}{r} = r \Rightarrow 0 = r$$

$$\frac{r - r}{r} = r \Rightarrow (r, r) \quad \frac{1 - r}{r - r} = -1 \Rightarrow \frac{1 - r}{0} = -1 \Rightarrow 1 - r = 0 \Rightarrow r = 1$$

$$V = r = 1$$

$$V = -r + \Delta \Rightarrow V = -1 + \Delta \Rightarrow \Delta = V + 1 = 2$$

$$V = r = 1 \quad V = \frac{r}{r} = 1 \quad (r, r) \Rightarrow V = \frac{1}{r} \cdot \frac{1}{r} = \frac{1}{r^2} \Rightarrow \frac{1}{r^2} = 1 \Rightarrow r = 1$$

$$V = -r + \Delta \Rightarrow V = -1 + \Delta \Rightarrow \Delta = V + 1 = 2$$

$$(r, m - r) \cdot (a - m) \cdot V - V = 0 \Rightarrow (r, m - r) \cdot (a - m) \cdot V - V = 0$$

$$(m + 1) \cdot a - (r, m - r) \cdot V + 1 = 0$$

$$\frac{r(m - r)}{1 \cdot m - r} = \frac{r(m - r)}{1 \cdot m - r} = \frac{r(m - r)}{1 \cdot m - r}$$

$$AB: a + rV = r \quad AC: V = rA = 1 \quad BC: a + V = r$$

$$\frac{AM}{AH_A} = \frac{r}{1} = r$$

$$AC, CB: V = rA = 1 \quad AB, BC: V = -rA + r = -r + r = 0$$

$$V = -rA + r = -r + r = 0$$

$$V = -rA + r = -r + r = 0$$

$$\sqrt{\left(\frac{1}{r} - \frac{r}{r}\right)^2 + \left(\frac{r}{r} - \frac{r}{r}\right)^2} = \frac{\Delta \sqrt{r}}{r}$$

$$V = -rA + r \Rightarrow \frac{|1 + 1 - r|}{\sqrt{r}} = \frac{r}{\sqrt{r}} \Rightarrow \frac{2 - r}{\sqrt{r}} = \frac{r}{\sqrt{r}} \Rightarrow 2 - r = r \Rightarrow r = 1$$

$$m = \frac{1}{r} \quad A, B \quad \frac{1 - b}{\sqrt{1 + \frac{1}{r}}} = \sqrt{r} \Rightarrow \frac{1 - b}{\sqrt{1 + \frac{1}{r}}} = \sqrt{r} \Rightarrow 1 - b = \sqrt{r} \cdot \sqrt{1 + \frac{1}{r}} = \sqrt{r + 1}$$

$$\Rightarrow (0, b), (r, 0) \quad \sqrt{r + 1} = \sqrt{r + 1} \Rightarrow \Delta \sqrt{r}$$